— B B A EIEIAT  (BE8H £249) BIRIAD (B4 £169)

1. A 24 B - T E 3@ E IR — & 1. 23 LI A40 B35 81 h »
Tia-gim: ( ) &i(BARKES) (1) HE A 48 > Tk 44

TN T e W v &% e S (

e -,_/ ,f,Ax‘ ('.,.' “,;‘ :

Iz = ONIRS N i i | | i J b | NN
[Nz /' N/ 5\\.k_/J: \,/ Pt Newdd el Nomad R : - B oo B
| @ NRZ O NRZNpY [ B B || | @ (2) EBEAZS S FAI » TIvA-H &b
N 4 \\ )b __/" :\,,,/ ¢ 2
21 s eI (¢ ) @A
SN ) ‘\ ) ’\,/ \ 4 o sl | 2, 77";{ %‘ 12 #&: “”":&1 °
| B F BT TREIK IR — R

L ¢
) Bz o BikERSAE) VA 57\ E\JZ {2 )

ko
-
h
5

K: L

I3

Se
A
"
(o]

i) e
" g "Nt 3
o
.
)

]

|

S

N S
P 9
B
P
—

ﬂ.
S
S
|
S
Paind
o]

S BN - DL T P geomiops Mo ik des Fodke 281 dk &

L T o (BM8 4 #£3249) (sukEe s

R

3. %‘; 32 1B ALE s _,’5_-8 B AE /\E)ﬁ‘i' 1487 » 1. 'ﬁfé R ;I,-E 30 gl% é #K - \5’%@3 e ‘g-‘i 5 gl%i
0 g B ﬁi 1 & sz/\ \ﬁi%:@,:‘?

S = e
MY — <
- ~‘

2. [T &%—'%'\ 27 F: % *Ei-%—: oa ;
FR:&R < LRI b1 B A T
PA-5-5 .éé.\f:»-%lz:%@; Al ‘?

N
A
o
2wl
7
|

t
I
A\
i

) =0
=9
A s
9 — Y ={
A pWiry
/E\"‘ RN PAS

48 — 8 = 4! 16—8=28 f,\\ 6x& = 4$
Co 00 L0 40—8=32 8—8=0
2. ST vA-Al: ﬁ%m\s;g,:wﬂg/\ Blrag i BB 278 =94
s TE LR EITEV - —8=1¢6 2 S

(v )16 %éfgff;ﬂ
(2)( )18 A k=5
(3)( v )20 ek AT

LA ELAL
R T ABEAE
SELS AT

rn

)

RETE S P %\

5\/

+%%¢+V

3- % -—}: %‘ 36 ’ﬂﬂ“% ’ﬁi: ° \ 4/3(“%”@“/\5 28 __TF =Y T "] = = 7 = 2R
Tro-BLAFI R Bipt e o El - o
—-#%: %17 R
(1) ( S S ABLAG ¢ B L
14—/ =17 v HE
(2), 77 -’,Lj\ 6/{5}‘/\; e



